<u>Maire Tecnimont Center For Research in Waste Recycling and</u> <u>Circular Economy</u>

	Funding and Manpower Details						Ge	nder	Departments						
SI NO	Manpower	Qualification	Salary (Rs Per month)	HRA	Durati on (Mont hs)	Total Salary for 12 months per person	Number of Scholarships	Contin gency INR	Amount INR	Male	Female (F)	Mech	Chem	Chemistry	Metallurgy and Materials Engg
1	Project Associate- I	BTech	18000	NIL	12	216000	2	30,000	492000	1	1	1			1(F)
2	Project Associate- II	MTech	31000	NIL	12	372000	2	32,000	808000	1	1	1	1 (F)		
3	3rd/4th Yea	r B.Tech /2nd r MSc	NIL	NIL	12	NIL	6	30,000	180000	2	4	2 (1F)	2 (1F)	1(F)	1(F)
4	2nd Yea	ar M.Tech	INST SCH	NIL	12	NIL	3	30,000	90000	2	1	2	1(F)		
5	Fellowshi	st-Doctoral (p) (Engg 2, ence 1)	50,000	NIL	12	6,00,000	3	50,000	1950000	1	2	1	1(F)	1(F)	
			Total				16		35,20,000	7	9	7	5	2	2

<u>Maire Tecnimont Center For Research in Waste Recycling and</u> <u>Circular Economy</u>

Details of departments involved:

Designation/Scholarships	Mechanical Engineering	Chemical Engg	Chemistry	MME	Total
Project Associate-I	2,46,000			246000	492000
Project Associate-II	4,04,000	4,04,000			8,08,000
3rd/4th Year B.Tech /2nd year MSc	60,000	60,000	30,000	30,000	180000
2nd Year M.Tech	60,000	30000			90,000
PDF (Post-Doctoral Fellowship) (Engg 2, Science 1)	6,50,000	650000	650000		
	1420000	1144000	680000	276000	3520000

Project Coordinators: Dr Vasudeva M and Prof Ashok Babu T. P.

Faculty members Involved:

Mechanical Engineering

Dr. Vasudeva Madav Assistant Professor,	E-mail: <u>vasu@nitk.edu.in</u>
Department of Mechanical Engineering National Institute of Technology Karnataka Surathkal P.O: Srinivasanagar, Mangalore, Karnataka- 575 025	
Dr Ashokbabu T.P. Professor, and CSR Project Coordinator Department of Mechanical Engineering National Institute of Technology Karnataka Surathkal P.O: Srinivasanagar, Mangalore, Karnataka- 575 025	E-mail: tpashok@nitk.edu.in
Dr. Kumar G N Associate Professor and Department of Mechanical Engineering National Institute of Technology Karnataka Surathkal P.O: Srinivasanagar, Mangalore, Karnataka- 575 025	E-mail: gnkumar33@nitk.edu.in
Dr. K R Guruprasad Associate Professor Department of Mechanical Engineering National Institute of Technology Karnataka Surathkal P.O: Srinivasanagar, Mangalore, Karnataka- 575 025	E-mail: krgprao@nitk.edu.in

Chemical Engineering

Dr. Prasanna B. D. Associate Professor and Head, Department of Chemical Engineering National Institute of Technology Karnataka SurathkalP.O: Srinivasanagar, Mangalore, Karnataka- 575 025	E-mail: <u>prsn@nitk.edu.in</u>
Prof Saidutta M. B. Professor, Department of Chemical Engineering National Institute of Technology Karnataka SurathkalP.O: Srinivasanagar, Mangalore, Karnataka- 575 025	E-mail: saiduttamb@gmail.com
Dr. Keyur Rawal Associate Professor, Department of Chemical Engineering National Institute of Technology Karnataka SurathkalP.O: Srinivasanagar, Mangalore, Karnataka- 575 025	E-mail: keyurnraval@nitk.edu.in

Metallurgy and Materials Engineering

Dr. Ravishankar K S	E-mail: rshankar983@yahoo.in
Associate Professor,	
Department of Metallurgy and Materials Engineering	
National Institute of Technology Karnataka Surathkal	
P.O: Srinivasanagar, Mangalore, Karnataka- 575 025	

Chemistry

Dr. Saikat Dutta Assistant Professor,	E-mail: sdutta@nitk.edu.in
Department of Chemistry	
National Institute of Technology Karnataka Surathkal	
P.O: Srinivasanagar, Mangalore, Karnataka- 575 025	